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‘ DO NOT OPEN THE SEAL OF THE QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO SO ]

Question Booklet Series Code : A Question Book Serial No : 115517

Time Allowed : 03.00 hours HEW-VAW-2016

R0 99 : 03.00 QS

Maximum Marks : 220
QAGIRYQ AIF: 220

Read the following instructions carefully before you begin to answer the questions. This Booklet contains 200 objective type
questions with multiple choice answers in two papers.

Paper-I contains 100 questions in two parts. Part-I contains 30 questions on Mathematics carrying 50 marks in two sections
}vhich are available in both English and Odia version. Part-II contains 70 questions on General Science carrying 70 marks in
our sections.

Paper-II contains 100 questions carrying 100 marks in three parts. Part-I contains 50 questions carrying 50 marks on
General Studies which are available in both English and Odia version. Part-II contains 25 questions in English Language and
Part-111 contains 25 questions on Odia Language for 50 marks. In case of discrepancy in meaning, the English version will
prevail. The distribution of marks for different questions has been mentioned under each section of each part. All questions
are compulsory.
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Before answering any question, check the Booklet and ensure that it
contains 32 pages and no page is missing, mutilated or repeated. In
case of any such defect replace it immediately.

The Invigilator shall supply you the blank OMR Answer Sheet
separately. Enter your Roll Number, Question Booklet Serial Number
and Question Booklet Series Code and darken the corresponding
circle/oval provided on the Answer Sheet at the appropriate space
carefully by black/blue ball point pen only. You must write the name,
date and center of examination and put your full signature in the
appropriate space provided therein before answering any question.

. A machine will read the coded information furnished by you in the

OMR Answer Sheet. If the information so furnished by you are
incomplete or different from what you have given in the application
form. you shall be awarded Zero marks.

Answer must be given by completely blackening one of the four
circles/ovals representing the correct answer given on right side of the
Answer Sheet corresponding to the relevant question by using
Black/Blue ball point pen only. Answers not shown by properly
darkening in black/blue ball point pen. no marks shall be awarded.

No Rough work should be done on the OMR Answer Sheet. Space
for rough work has been provided in the Question Booklet itself.
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examination hall. In case the candidate is found in possession of any
of the above, he/she shall be disqualified from the examination
without any enquiry whether the same was/were used by the
candidate or not.

. These instructions must be complied with fully, failing which your

Answer Sheet shall not be evaluated and Zero marks will be awarded.

. Candidate please ensure to fold at the perforation and separate the

Original Copy and Candidate’s Copy of the Two Part OMR Answer
Sheet in the presence of the Invigilator after the examination is over.
The Candidate’s Copy of the OMR Answer sheet may be taken by
you. Failure to hand over the original copy of the OMR Answer
Sheet to the Invigilator before leaving the examination hall/room
shall make you liable for penal action.

9.Failure to comply with any of the above instructions shall be

considered as adopting unfair means and action as deemed proper
shall be taken.
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PAPER-I
PART-1: MATHEMATICS
SECTION — A : 10 Marks

Instruction: Each question under this section carries one mark. Please read each question carefully and
answer them by selecting the right one out of the multiple answers given below each as A, B, C and D.

1. Find the least value of * for which the number 8550*1 is divisible by 3.
8550%1 2°61IE Q8 3 (8R) QIQU FARG 6RIA AIER, 606 *' Q IGOY AAY @66 ?
(A) 1 ®2 (©)5 (D)8
2.1f 22 = 64, then find the value of 2%3,

AQ 2°=64, 6069 2°Q JAY 6PER?

(A4 (B) 16 (C)32 (D)8
3. Find 8% of 625.

625 &) 8% E@ER ?

625 8 C) 50 D)5
(A= (B)— (©) (D)

4. A person purchased an item for Rs. 80 and sold it for Rs. 120. Find his % of profit.

99 AAEQ 80 G@I6q 4 120 CENEE AR6R, 6R6E FORYI (%) AN 6297
(A) 50% (B) 100% (C) 150% (D) 0%

5. What is the simple interest on Rs. 2000 for 2 years at the rate of interest of 10% per annum.

Qe €609110 Q18R 2000 O QLR QR @HQ AR YA SIS 6066 ?
(A) Rs. 100 (B) Rs. 2000 (C)Rs. 400 (D) Rs. 20,000

6. What is the perimeter of a rectangle whose length is 12cm and breadth is 10cm?
ey 12 68869 6 gg 10 69306 QI 99 AL A 6066 62Q?
(A) 120cm (B) 120cm? (C) 44cm (D) 44cm?
7. What is the mean of 5, 11, 16, 10 and 18?

5,11,16,10 99° 18 Q) QIQIQIE @67
(A)5 (B) 12 (C) 16 (D) 18

8. Find the value of (sin? @ + cos? 8 — 1).

(Sin’8 +cos’B - 1) Q INY 6x66 7
A)2 (B) % (©C)-2 (D)0

9. (b-a)’ is equal to what?
(b-a Q QA4 6607

(A) b —a? (B) a>— b2 (C) b?- a2-2ba (D) b*+ a2 - 2ba
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440317 f A} FTAEE 4 UI D

10. Area of a circle having diameter 2y is equal to what?
2v QYIQ QF® 9@ QA CUQPR 6REE 629 7
(A) ¥ (B) 2mx (C) 4my? (D) m¥?

PAPER-1

PART-1 : MATHEMATICS
SECTION - B: 40 Marks

Instruction: Each question under this section carries two marks. Please read each question carefully and
answer them by selecting the right one out of the multiple answers given below eachas 4, B, C and D.

11. If one — third of one — fourth of a number is 15, then three-tenth of that number is :

99 IR 9R-09dIdQ 9e-Qe1E 96 15 @9, 6P6R 698 A°eHIQ 85 -08AIPa 606 ?
(A) 34 (B) 44 (©) 54 (D) 64

12. Find the value of /66049 (i.e. square root of 66049)
V66049 Q A1 6@66?
(A) 257 (B) 263 (€) 267 (D) 273

13. (12 +3v/2 ) is equal to

(12+3v2) Q gaY 62662

(A)V2Z (B)2 ©)2v2 (D) 4v2
14.Ram’s salary is increased from Rs. 24,000 to Rs. 30,000. Find the % of increase.

QAR QQAI A4 24000 GGG, 30000 T VRINIG, 6969 QAR VP 61 6ACE F166@ 9B
699

(A) 20% (B) 25% (C) 30% (D) 40%
15. By selling a fan for Rs. 649, Anil earns a profit of 18%. Find the cost price of the fan.
9@ €Y 649 GENIEQ 9 @F) AR 6RQI 18 AIQ AN | AR I, FAY 6REOT

(A) Rs. 550 (B) Rs. 649 (C) Rs.631 (D) Rs. 667

16. If the marked selling price of an article is Rs. 1000, then what is the selling price at a discount rate of
20%?

98 991Q 946 94, gAY @ 1000 G6N @9, 6669 §09G! 20 QRIB oI €6R 698 9aYQ
€96 9QQ, gRY 6REe 627
(A) Rs. 500 (B) Rs. 800 (C) Rs. 980 (D) Rs. 1200

17.In what time will Rs. 3100 amount to Rs. 6200 at 4% simple interest per annum ?

Qf@ @@ 4 Q@ q&J QU6 , CRER Q§€Q 3100 @&l 6200 O'aFl R Y
(A) 4 years (B) 10 years (C) 20 years (D) 25 years
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18. The sides of a triangle are in the ratio of
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v.4e of the triangle.

78 69800Q aQd Jde 90 §9RQ QAR AQEIS 62aE -1 : ;1 98 §9aa §ood
QIQQ 63d 6a60 7
(A) 18cm (B) 24cm (C) 36cm (D) 72¢m

19. A mixture of 150 litres of milk and water contains 20% water. How much more water should be added so
that water becomes 25% of the new mixture?

150 Reaq QU @ aldq 9@ G4e66q 20 800¢! aIfl 221 98 T466R IR 6260 IS
daimen aIde 2°8 25 0@l 6RQ7
(A) 5 litre (B) 10 litre (C) 20 litre (D) 25 litre

20. A man travelled a distance of 61 km in 9 hours. He travelled partly on foot at 4 km/hr and partly on
bicycle at 9 km/hr. What is the distance travelled by him on foot?

@68 @1& 61 8.0 QYR 9 AR AL F6R| CABUARIYG BF QI 67 AQ g6 4 &.9
69616Q, €ID6R, 9IR 216018 9QZA Y QT QIY AXLE 9 8.0 6Q66q AINPNER
PORI2 FRLsRI 69 6a6e QY CIRER, SIREIER|

(A) 8 km (B)12 km (C) 16 km (D) 20 km
21. Find the area of an equilateral triangle having sides of length 8cm.
8 c1800Q 63dY A8 9@ AANY YRQ CHRPR CRCR?
(A) 8/3 cm? (B) 12 cm’ (C) 24 cm® (D) 16v3 cm?
22. If the radius of a circle is decreased by 50%, then find the % decrease in area.

9@ 9a9) QA €T 50 §09Q Q1Y €I, 606Q Q@ QAQ CHQPR Ea6R 1999l QI
A ?

(A) 25% (B) 50% (C) 75% (D) 100%

23. Between a square with perimeter 8 cm and a circle with diameter 2cm, which one will have bigger area?

(A) Circle (B) Square
(C) Both have same area (D) sometimes circle and sometimes square

8 69.8 068 388 90 o4 686 6 2 64.8 Q1Y FFY 9@ Q@ ARG FIQIQ ISR 2AUR?

(A) Qe (B) @4l 689
(C) QOO 6RQEPR AAIQ (D) 696REQER Q@ B 6a6RERER GIeA
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24. There are two sections A and B in a class, consisting of 25 and 32 students respectively. If the average
weight of the Students of section A is 45 kg and that of section B is 43 kg, find the average weight of the
whole class.

9@ 68619 A 6 B Q1@ Q@ 639976 A2I96A 25§ 6 320 @i@ €l aed | A8 6aeaR
A QIR0 QIQIRIA BAA 45 3.4 6 69994 B QI0AIAw QIQIRIR 6RR43 3.91 @9,
6062 699 6646 QeI AFL RO QARG BRR 68667

(A) 33.87kg (B) 38.87kg -~ (C) 44kg (D) 43.87kg

25. ‘Mode” means the most frequent value in a data set. Find the mode of the following data set (53, 23, 18,
23, 23,96, 18, 53, 107, 88 and 53)

9@ ealealeq 990Iq ARAQ JRAIQR QIR 9a1q '6AIe QRIAN? GaMeR] 53,
23, 18, 23, 23, 96, 18, 53, 107, 88 9a° 53 q '6716" 6260 2
(A) 18 and 23 (B) 18 and 53 (C) 23 and 53 (D) only 53

26. In the equation 5x + 11y = 146, if the value of x is 5, then find the value of y.
A@ 9@ AR Sx+11y=146 6Q) 'x' Q dal 5 29,6069 y Q gAY 666 ?

(A) 11 (B) 12 (C) 13 (D) 14

27. The ratio between the LCM (Lowest Common Multiple) and HCF (Highest Common Factor) of 5, 15 and
20 is

5,156 20 Q @.91.¢ (RUY RIS §a6R) 96° 6.91.¢ (a8 RS Fai1ae) Q
QAN 666 7

(A)1:12 (B)1L: 1 (C) 1 11 (D)12: 1
" On simplification, EJ_;@ becomes

W_sz\;;ﬂ @QQ@1QQ@ @RIE6Q 9919 An1 6X6e 6297

(A) 345 (B)S ' ©e6 -(D)6+5

29. (a+b)? — (a-b)?* = 2

(a+b)* —(a-b)? Q ARY 62607

(A) 22 (B) 2b2 (C) 2(a*+b?) (D) 4 ab

30. If you divide 240 into two parts in the ratio of 2:3, then the parts are:

240 A8 23 AQAIFER QER 266 Fa8 FAUIMIY, 6360 2PEgE@ QR

(A) 96 and 144 (B) 100 and 140 (C) 120 and 120 (D) 160 and 80
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PART-II
& GENERAL SCIENCE
SECTION-A : PHYSICS : (20 Marks)

Instructions : Each question under this section carries one mark. Please read each question carefully and
answer them by selecting the right one out of the multiple answers given below each as A, B, C and D.

31. If the error in the measurement of radius of a sphere is 1%, then the error in the measurement of volume will be
(A) 1.1% (B) 3% (C) 3% (D) 8%

32. A stone drops from a height of 100 m and simultaneously a stone is thrown up with a velocity of 40 m/s. Find the
time and position when they cross each other. (=10 m/s%)

(A) 2.55,68.75m (B)2s,60m (©)22s5,40m (D)3s,45m

33. A police jeep is chasing with velocity 45km/h. A thief in another jeep is moving with 155 km/h. Police fires a bullet
with a muzzle velocity of 180 m/s. The bullet strikes the jeep of the thief with “velocity

(A) 27 m/s (B) 150 m/s (C)250 m/s (D) 450 m/s

34. The sum of magnitude of two forces is 18 N and magnitude of their resultant is 12. If the resultant makes an angle of
90° with the smaller force, then find the magnitude of forces.

(A)5N, 13N (B)6N, 12N (C)I0N,8N (D) None of these

35. A staircase has 5 steps each 10 cm height and 10 cm wide. A ball is placed at the top of the stair case.
What minimum horizontal velocity be given to the ball so that it directly hits the lowest plane. (g=10 m/s?)

(A) 2 m/s (B) Lm/s (C)2.5m/s (D) V2 m/s

36. Two particles move in concentric circles of radius r; and ra such that they maintain a straight line with the
centre. The ratio of their angular velocities is

(A1 ®B) ri/r2 (C) r2/11 (D) r1/2r;

37. The height at which acceleration due to gravity becomes g/9 (where g is the acceleration due to gravity on the surface
of the earth) in terms of R, the radius of earth is

(A)RA2 (B)R/2 (© V2R (D) 2R
38. A wire is stretched to double its length, the strain produced is
(A)0.5 (B) 1.0 (©)2.0 (D)2.5

39. When a liquid drop of radius R split into n smaller drops each of radius r then the value of n will be

AR/ ®) (R)2 © (rR): DR
40. A Carnot engine has efficiency 40% (heat sink 27° C). To increase efficiency by 10%, the temperature be increased
by
(A) 157k (B)25.7K (C)50.7K (D)35.7K
41. The acceleration of particle executing SHM at its mean position is
(A) infinity (B) varies (C) maximum (D) zero

42. A transverse wave described by y=0.02 sin (x+30t) cm propagates on a stretched string of linear density 12 gm™'. The
tension on the string is

(A)2.16 N (B) 1.08 N (C)0.108 N (D) 0.0108 N

43. [f fundamental frequency of an open pipe is fo . Its fundamental frequency when it is half filled with water is

(A) fo (B) fo/2 (C) 26y (D) fo/4
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44. Divide charge Q into two parts q and (Q-q), so that the force between the charges is maximum at any separation.
Then q equals

(A) Q2 (B)Q/3 (C) Q/4 (D) 2Q/5
45. A thin metal sheet is introduced in between a parallel plate capacitor having capacitance C, then

(A) Capacitance still remains C (B) Capacitance > C
(C) Capacitance < C (D) Capacitance become co

46. A wire carries the current I=4+2t. Find the number of coulombs which pass through between t=5 to t=10 seconds.
(A)603.3C (B)1274C (C)164 C (D)4833C

47. A charged particle is accelerated through a potential difference of 12kV and acquires a speed 108ms™. It is projected
perpendicularly into a magnetic field of strength 0.2 T. The radius of the circle described is

(A) 24 cm (B) 18 cm (C) 12 cm (D) 6 cm

48. Three plane mirrors are mutually perpendicular. The maximum number of images which can be formed is
A7 (B)3 ©9 D)6

49. The frequency of a photon emitted by a transition from fith to (n-1)th level is proportional to
(A)n’ (B)n? (©)n? (D)n*

50. Reverse bias applied to a p-n junction diode

(A) increases the minority carrier current (B) lowers the potential barrier
(C) raises the potential barrier (D) increases the majority carrier current

SECTION-B : CHEMISTRY : (20 Marks)

Instruction : Each question under this section carries one mark. Please read each question carefully and
answer them by selecting the right one out of the multiple answers given below each as A, B, C and D.

51. The M™ ion of which of the following transition metal, contains four unpaired 3d electrons

(A)Cr (B) Mn (C) Cu (D) Zn

52.1f both gases are at the same temperature, the rate of effusion of O, is very close to

(A) 0.125 times that of He (B) 0.35 times that of He
(C) 4times that of He (D) 8 times that of He

53. An adiabatic process is one in which there is no transfer of heat across the boundary between system and
surroundings. For such a process

(A) Pew AV =0 B)g=w (CO)OAE=0 (D) DAE=gq
54. The osmotic pressure of a 0.1 M solution of non-electrolyte non-volatile solute at 0° C is
(A) 2.24atm (B) Zero (C) 4.68atm (D) 7.53atm

55. Addition of which of the following salt to water would cause an increase in pH?

(A) CH;COONa (B) NaCt (C) NH.CE (D) Na:SO4

56.13 g of metal M is deposited at the cathode by passing 0.4 F of electricity. The cathodic reaction is
M" + ne” — M. What is the formula of the metal chloride? ( at. mass of M =65)

(A) MCL, (B) MCl; (C) MCt, (D) MCt
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57. lodine — 131 has a half-life of 8.06 days. What fraction of a sample of *' I will be left after 33 days?

(A) 172 (B) 1714 . (C) 1/8 (D) 1/16
58. Which of the following is used as a strong yellow pigment for road signs and markings?
(A) KoCr204 _ (B) PbCrO;4 (C) PbS (D) CdS
59. Aqueous solution of Mohr’s salt gives the test of ions
(A) NHf (B) Fe™ (C) S03? (D) all
60. Sulphate ion shape is
(A) Planner triangle (B) Trigonal pyramidal (C) Tetrahedral (D) Square planar
61. Which one of the following pairs of ions cannot be separated by HS in dilute HCE2
(A) Bi*, $n” (B) ALY, Hg? (C) Zn"?, Cu® (D) Ni?, Cu*?
62. Number of 7 electrons in cyclobutadieny® anion ( CsHy)*" is
(A)2 (B) 4 (©) 6 (D) 8
63. Isomers which can be interconverted through rotation around a single bond are
(A) Conformers (B) Diastereomers (C) Enantiomers (D) Positional isomers

64. Ozonolysis of 2-methyf butene -2-yields

(A) Only aldehyde (B) Only ketone
(C) Only carboxylic acid (D) Both aldehyde and ketone

65. Chlorobenzene is
(A) Less reactive than benzyl chloride (B) More reactive than ethyf bromide
(C) Nearly as reactive as methy¥ chloride (D) More reactive than ally£ chloride
66. Phenof gives salicyldehyde on heating with CHCf3; and KOH at 343K. The reaction is known as

(A) Cannizarro reaction (B) Claisen reaction
(C) Kolbe reaction (D) Reimer — Tiemann reaction

B7. Activation of benzene ring by — NH. in aniline can be reduced by treating with

(A) Dilute HCE (B) Ethy£ alcohol (C) Acetic acid (D) acetyf chloride

68. Which of the following polymer is used in making non-sticking cooking pans?

(A) PMMA (B) PTFE (C) PAN (D) Nylon-66

69. Toluene absorbs at higher wavelength compared to benzene due to presence of methyf group which acts
as

(A) Chromophore (B) Auxochrome
(C) Conjugate system (D) Delocalisation of pi-electrons

70. How many grams of CaCO3 will dissolve in distilled water to make 1000 cm’ of saturated solution? Ky
(CaCO03) =4.08 x 10 ( At. Masses : C=12,0=16,Ca=40)

(A) 0.0069 g (B) 0.069 ¢ (C)69¢ (D) 6.9x10*
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SECTION - C: BIOLOGY : (20 Marks)
Instruction: Each question under this section carries one mark. Please read each question carefully a. .
answer them by selecting the right one out of the multiple answers given below each as A, B, C and D.

71. Pneumatophores are found in

(A) The vegetation which is found in marshy and Saline lake
(B) The vegetation which is found in acidic soil

(C) Xerophytes

(D) Epiphytes

72. Transduction in bacteria is mediated by

(A) Plasmid Vector (B) phase Vector (C) Cosmid (D) E-factor
73. The organelle that divides intracellular space into two distinct Compartments, i.e. luminal and extra
luminal
(A) Golgi Apparatus (B) Lysosome
(C) Endoplasmic Reticulum (D) Spherosome

74. Opening and closing of stomata is due to

(A) Hormonal changes in guard cell (B) Change in turgor pressure of guard cells
(C) Gaseous Exchange (D) Respiration

75. An element playing important role in nitrogen fixation is

(A) Zinc (B) Molybdenum (C) Copper (D) Manganese

76. Temperature changes in the environment, affect most of the animals which are

(A) Poikilothermic (B) Homeothermic (C) Aquatic (D) Desert living
77.In which organism, nerve cells are present but brain is absent?

(A) Sponge (B) Bacteria (C) Earthworm (D) hydra
78. The factor required for maturation of Erythrocytes is

(A) Vitamin B-12 (B) Vitamin C (C) Vitamin D (D) Vitamin A

79. In mammals milk is digested by action of

(A) Rennin (B) Amylase (C) Intestinal Bacteria (D) Invertase
80. The function of oxygen is to help in

(A) Child birth (B) Gametogenesis (C) Anaerobic growth (D) Lactation
81. Megasporangium is equivalent to
(A) Fruit (B) Ovule (C) Nucellus (D) Embryo sac.
- 82. Vegetative propagation in mint occurs by

(A) Sucker (B) Runner (C) Offset (D) Rhizome

83. Absence of one sex chromosome carries

(A) Turner’s syndrome (B) Klinefelter’s Syndrome
(C) Down’s syndrome (D) Tay-Sach’s syndrome

84. Number of Barr body in XXXX female is

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

BPEIQ AA8 GF QA g4 Q9 AN

WtsApp/Call- 8596976190
Download “Tech Of World” App

412217 7 A FABE 11 OT 3£

85'?3}’3” and “Ratna” developed for green revolution in India are the varieties of

(A) Bajra (B) Maize (C) Rice (D) Wheat

86. Breeding of crops with high levels of minerals, vitamins and proteins is called

(A) Mi cropropagation (B) Somatic hybridization
(C) Biofortification (D) Biomagnification

87. The age pyramid with broad base indicates

(A) High percentage of young individuals (B) High percentage of old individuals
(C) Low percentage of young individuals (D) A Stable population

88. The number of autosomes in human primary spermatocyte is

(A) 46 (B) 44 (©)23 (D) 22
89. Medical Termination of Pregnancy (MTP) is considered safe up to how many weeks of pregnancy?

(A) 10 weeks (B) 12 weeks (C) 20 weeks (D) 24 weeks
90. Why is usually insulin not administered orally to a diabetic patient?

(A) Insulin is bitter in taste

(B) insulin is a peptide

(C) insulin will lead to a sudden decrease in blood sugar if given orally
(D) insulin leads to peptic ulcer if taken orally

SECTION — D: Crop Production, Agriculture, horticulture, repair and Maintenance of power
driven farm machinery, etc.: (10 Marks)

Instruction : Each question under this section carries one mark: Please read each question carefully and
answer them by selecting the right one out of the multiple answers given below each as A, B, C and D.

91. The property of the lubricating oil that says about its quality is:
(A) Viscosity (B) Volatility (C) Surface tension (D) Density

92. For completion of one thermodynamic cycle, the crankshaft of a 4-strock diesel engine of a tractor rotates:
(A) 90 degree (B) 180 degree (C) 720 degree (D) 360 degree

93. The function of the tractor differential is:

(A) To transfer power at 90 degree (B) To help in turning
(C) Both (A) and (B) (D) None of the above

94. The grade of lubricating oil used in gearbox of a diesel engine is:

(A) SAE 30 (B) SAE 20 W 40
(C) SAE 90 (D) Any grade can be used

95. The inflation pressure of tractor rear wheel tyre is:

(A) Less than that of front tyre (B) More than that of front tyre
(C) Equal with that of front tyre (D) Not related

96. The branch of agriculture Science dealing with study of field crops is known as:

(A) Soil Science (B) Entomology (C) Nematology (D) Agronomy
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97. The process of growing single crop in a year is known as:
(A) Mono cropping (B) Inter cropping (C) Double cropping (D) Multiple cropping
98. The branch of Agricultural Science dealing with fruits, vegetables and ornamental plants is known as:

(A) Agricultural biotechnology (B) Horticulture
(C) Apiculture (D) Aquaculture

99. Which of the following is not a spice crop?
(A) Cumin (B) Pumpkin (C) Ginger (D) Turmeric

100. Improvement in the plant characters in order to produce higher yield comes under

(A) Basic Science (B) Horticulture Science
(C) Plant Breeding and Genetics (D) Soil Science & Agricultural Chemistry
PAPER — 11
Part-I
GENERAL STUDIES

SECTION — A : 50 Marks
Instructions : Each question under this section carries one mark. Please read the questions carefully and
answer them by selecting the right one out of the multiple answers given below each as A, B, C and D.
101. Which sport is associated with Davis Cup?
(A) Tennis (B) Football (C) Cricket (D) Hockey

600g @€ 69 cHIRAQ ANQ ?
(A) 6689 B) PR (©) Qeas D)Qd

102. Which is the largest Planet in the solar system?
(A) Saturn (B) Jupiter (C) Mercury (D) Mars
9] [sl=Ia[=lo)] QAN JeQ QI @817
(A) 618 (B) Q240 ©)Qu (D) AeP@
103. Who were the first Europeans to start trade with India?

(A) The Dutch (B) The English (C) The French (D) The Portuguese

606 AeAIINEs QIQe 986 gasa QIday Qe @B ?

(A) BRI (B) 60 (©) P! (D) agere
104. Who started the Bhoodan movement?
(A) Mahatma Gandhi (B) Vinoba Bhave
(C) Acharya Kripalani (D) Jayaprakash Narayan
QIR 2eRIRe &9 2AQY FS8IER?
(A) FQIQIGNIDT (B) Q6R1Q1 QU6
(©) 2SI QEIRGT (D) ARSI QIS

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

BPEIQ AA8 GF QA g4 Q9 AN

WtsApp/Call- 8596976190
Download “Tech Of World” App

115517 f A/ Page 13
105. Who is the current Loksabha Speaker?

(A) Meera Kumar (B) Venkia Naidu (C)J. P. Nadda (D) Om Birla

QAMIQ CRIRIAIR FI9%E @9 2198 ?
(A) AR QAR (B) 6a&2l Q16 (©)6.8. Qe (D) B4 @l

106. Kalinga prize is related to which field?

(A) Popularization of science (B) Economic science
(C) Solar science (D) Biological science

RGP QI 699 (H9IQ TN ?
(A)QRIGQ cAISEE @RI IR (B) 2@ QwIQ
(€ 6dlq agiQ - (D) @le QwI@

107.<Lok Seva Bhawan’ is the new name of which state secretariat?
(A) Telengana (B) Karnataka (C) Odisha (D) Chhatisgarh

60 QP4 9IRAQ QeI QI 'CRINEI QYR ?
(A) 6O6REIA (B) @sio@ (€)B@4I (D) @66161@

108. Who wrote the Book “Gandhi & Stalin”?

(A) Raj Narayan (B) Louis Fischer (C) Anita Desai (D) Lalbahadur Shastri

Q1 96° A" A8 B9 eRGIZEAT?
(A) QR AIQUAS (B) A@ &aQ (©) 250l 608Ia (D) QIQIQQ §lIe

109. Which of the following mountain passes links Srinagar and Leh?
(A) Mana pass (B) Rohtas pass (€) Nathula pass (D) Zojila pass

13919 99° 6L § 606 FQaa a°eald @QRT?
(A aIQLaIg (B)6QIQEP €I (O)Qgm! aIg (D) 6@1@R aIg

110. Lakshadweep is situated in which water body?
(A) Arabian sea (B) Bay of Bengal (C) Pacific ocean (D) Atlantic ocean

ANQE 604 @RAIGES 208067
(A) QS A (B) 6Pl AIFQ (0 €4I] AQIAIEY (D) AUTRAES AQIAIGQ

111. Which of the following longitudes is the standard meridian for determining Indian Standard Time?

(A)69°30'E (B)75°30'E (C)82°30'E (D) 82°30' W

6REl QAN QIQER VLIS A, ANIQE IR YILIE QIAAIIce QHe 6QIR8?
(A) 69°30' (B)75°30'€l (€)82°30'¢€l (D) 82°30'¢@l
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112. Which of the following is the longest river of the peninsular India?

(A) Narmada (B) Godavari (C) Krishna (D) Mahanadi
B0Rde ealrieeaig 6ad AeTd Qael aaqlaq lded qal?
(A) 2dQ| (B) 69121941 (€)@ (D) ARG
113. Who designed the Indian parliament in New Delhi?
(A) Gustave Eiffel (B) Le Corbusier
(C) Edwin Landseer Lutyens (D) Bonnano Pisano

Qaleq 2ede QIQeld 2°9eaenq 89 Being Qin?
(A) 9RIQ 2IREEPR (B) A 4@
(0)998% AIIETRq RERd (D) 691QI6x1 daieql

114.In which century did Vascodagama first land in India
(A) 17" century (B) 15" century (C) 14" century (D) 16™ century

QEABIGNAl 62@ S101R160 daed Qe I carden (ae&dien) ?
(A) 9904 do1a (B) 181046 61911 (C) QW46 S1011 (D) 68194l €111

115. Which is India’s first artificial satellite?
(A) INSAT (B) Aryabhata (C) Bhaskara (D) Rohini

QIQEQ P QEH AAYRQ AP @817
(A) QDI (B) 2ITYQE (©) QLA (D) 6QU@E

116. In which year, India won its first gold medal in Olympic Hockey?
(A) 1930 (B) 1928 (C) 1932 (D) 1927
QIee RS @FesPcq casa 6ase 98 aoe APRAI?

(A) 1930 (B) 1928 (C) 1932 (D) 1927

117. Which wildlife sanctuary was declared as the first National Park of India?

(A) Kaziranga National park (B) Gir National Park

(C) Nanda Devi National Park (D) Jim Corbett National Park
(0@ 974Y9g 2QQAd AQEQ daF Q11 AR QIS cAITE 6QARNAMI ?

(A) RIRAEN QO1E QYR (B)§q @le1g, @@

(C) @9l 6091 Q1614 AQYIQ (D) @A @604 @I1Q, @Ye

118. For which book, Rabindra Nath Tagore won the Noble Prize in 1913?

(A) Gitimalya (B) Chayanika (C) Manasi (D) Gitanjali

QRQAIY CI6AIR) 6ad 97 alel 1913 AdQIeq 6AIER AR AIRBER?
(A) Ay (B) 0@l © aaegl (D) eeIsd
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1 19;Who is known as the father of Indian Green Revolution?
(A) V. Kurien (B) C. Subramanian
(C) M. S. Swaminathan (D) None of these
QRN A9 B4 Faa 399
A a. 9fge ®)4d. geadaq
(©)499. 99. ¢ifcieq D) IAG@ A1) 608 QI3
120. Which one is the oldest mountain range in India?
(A) The Himalayas (B) Aravalli (C) Satpura (D) Nilgiri
QQEQ IFIQER adeaIRl Q QI Q'&?
(A) QARG (B) AR (©) AIegQ) (D) @laaay
121. Which one is the highest mountain peak in India?
(A) Everest (B) Nanga Parbat (C) Kanchenjunga (D) Yamnotri
A6 2ede aeed ade ger Q AIAPE? |
(A) 96Q6Q% (B) 6Pl 619G C)@Igaa’dl (D)EJCIGG'@
122. Who was the first Indian to be a member of British Parliament?
(A) Jamsedji Tata (B) Raja Ram Mohan Roy
(C) Dadabhai Naoroji (D) Surendranath Banerjee
9046 2'99Q 991 62IRZS! gaR U1, @99
(A) GPI?{GQ]@\ @l 19l (B) Ql&! QIQ\GQE@Q QA4
(C) QIR RIER (D)QeRR A2 Q11T
123.“Kuchipudi’ is a classical dance of which state?
(A) Tamil Nadu (B) Kerala (C) Karnataka (D) Andhra Pradesh
QOCE caQ QRQ SILL, 964 2667
(A) @Iﬁ@\@!% (B) 6@Q)@ ©) @4iga (D) 2l
124. Which city of India is known as ‘Manchester of India’?
(A) Pune (B) Kolkata (C) Ahmedabad (D) Nagpur
‘AR FICEER Q6T P ARAQ FIF @617
(A) EJNGG‘ (B) 6@ qa@! (C) EI@QQI@IQ\ (D) @!Q%Q

125. Who is known as the ‘Metro Man’ of India?

(A) C. Rangarajan (B) Montek Singh Ahluwalia
(C) E Sreedharan (D) Ratan Tata
QIQEE) "6FEQI AIRQ" QIR &9 Afoe?
(A) Q. qerqlae (B) 6@ &° a1Qeiqel
©) . g’l?:m@\ (D) Q@ 6!
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126. National Youth Day is celebrated in whose memory?

(A) Jawaharlal Nehru (B) Swami Vivekananda
(C) Subhas Chandra Bose (D) None of these
Q1614 49 99a QIQl gP6q ARG @A ?
(A) GPG‘I@IQ\QIQ 6Q6QQ) (B) QJIQ'I F6RRINR
(€)9RI9eR QIS (D) QAR ARIYE) €A Q6a

127. In which state of India, the archaeological site ‘Hampi’ is located?
(A) Karnataka (B) Tamil Nadu (C) Gujrat (D) Andhra Pradesh

6@ QIPYER 1e0Ide 9@ "R 2ege?
(A) @dice (B) QI8RRAIG OLER (D) 2REER4!

128. Where is National Police Academy located in India?
(A) Abu Road (B) Hyderabad (C) Dehradun (D) Bangalore

@1614, 6aIRg goRR QAIQEQ 6RA0I6R 20802
(A) 2] 6QI@ (B) 219QQIQIQ (C)6eQ1ga (D) QIGFIERIQ

129. The National Disaster Management Authority (NDMA) comes under which ministry?

(A) Ministry of Parliamentary Affairs (B) Ministry of Urban Development
(C) Ministry of Finance (D) Ministry of Home Affairs
Q1914 Sadia, afoIRel fQd 6ad AR, 866 QIdY 96Q?
(A)°9Q gqam AQSNRL, (B) @0Q @@La AaLslnG,
(©) e FREING, (D)SIe ARG,
130. The Konkan Railway connects which of the following places?
(A) Goa and Kanyakumari (B) Mumbai and Delhi
(C) Mumbai and Mangalore (D) Mumbai and Chennai

QIR CQRAING 60E 06 QY d°6aId @@ 7
(A) 64lIRIN 9&° @AUIQAIS] B)ggIQ 9e° Gq
(©) GIR 99° AIGFIERIQ (D) F4IR 99° 60QIR

131. The Hawa Mabhal is located in which city?
(A) Jaipur (B) Udaipur (C) Delhi (D) Gwalior

Qe QR 6R6 ARAER 2AFE ?
(A) RGGQ (B) Q@KL (© Qg (D) 6SlIRARAR

132. The Ashokan Pillar of which place has been adopted as the National Emblem of India?
(A) Sanchi (B) Vaishali (C) Sarnath (D) Allahabad

6@ gI9Q 2641 IR AQEq @le1d de1e QA6 FQdl RN QR ?
(A) Q18 (B) 63411 ©) QIR (D) ZIRLINQ
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133. Who was the first Field Marshal of India?

. (A) A. S. Vaidya (B) K. M. Cariappa (C) K. Sundarji (D) Sam Manekshaw
AQeQ dei reaidia 89 Bea?
(A)9.99. 6504 (B)6@.9¢1. @IQ2  (C) 6@. afalolay] D) AId dicaasl

134. The Kaziranga National Park is located in which State?
(A) Arunachal Pradesh  (B) Assam (C) Sikkim (D) Meghalaya

DR RI1Q AR 696 QIRYEY 26 9
(A)BQeIER d6asl  (B)aIQIq ©d&q (D) 6@ R,

135. The phrase ‘God’s own country” is used to refer to which Indian State?
(A) Kerala (B) Goa (©) Odisha (D) Himachal Pradesh

RQ ARIQ QEINIAT BR 608l CRIA QRIKNI?
(A) 60aR (B) 6sliel (©)GBal (D) @A16@ 9604l

136. Where is Buland Darwaza situated?
(A) Delhi (B) Fatehpur Sikri (C) Lucknow (D) Meerut

R Q@I 60R0I6R ARFG ?
(A) Qg (B) ereedq) 3@ (©) el D) g

137. Who among the following was the first Mughal emperor to allow the Britishers to establish trade links
with India?

(A) Akbar (B) Jahangir (C) Shahjahan (D) Aurangzeb

90¢ Aaw 286 Qe And Lae el A gelsd ced saIgq 916 2000 coallen?
(A) 2IQeQ (B) Q1QIGPQ) ©)€leaIIq (D) 2R QEPERa

138.1In Bengal, Where were the headquarters of East India Company located?
(A) Fort St. David (B) Fort William (C) Fort St. George (D) None of these

Q6P F6@4IQ 626016Q Q% Adal ANANQ geli AITHRG, A6 eaadIalal?
(A)6en< 628 6006 (B)send BRan (C)6en 698 66 (D)6RISER qed

139. Which of the following rivers flows from India to Pakistan?
(A) Sutlej (B) Ghaghra (C) Betwa (D) Tapti

Gondle ealaee atiq cad 9ol Q1Y AIRLIGE 4RI a8 ?
(A)9e6RR (B) QISIQ) (C)690@! (D)@Ig

140. Among the following places, where is the average annual rainfall the highest in India?
(A) Chennai (B) Kolkata (C) Shillong (D) Thiruvanthapuram

GgRsie aiediee Atg cadolsn AIfe QI Bale Bleen?
(A)60QIQ (B) 6RIRKIE (C) Siaer (D) 8Qagdaa
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141. Which state has longest coastline in India?

(A) Tamilnadu (B) Andhra Pradesh (C) Gujrat
606 QRIQ A7Q el @lded 216s'?

(A) QIFAQIQ (B) 2A[E6RE (©)9aqe

142. The city ‘Wuhan’ is situated in which country?

(A) Italy (B) Brazil

(C) United States of America (D) China
'QQIQ P9 694 6Q416Q 2AeFe T

(A) QeI (B) Q1@

(C) 2UIeA (D) QIR

143. Who wrote the book ‘Geeta Govinda’?

(A) Upendra Bhanja (B) Jayadeva (C) Balaram Das

'TNecEIRe @9 QORI QTR T

(A) @6dR Q& (B) @K@ (C) @@UA @I

144. The hot water spring ‘Atri’ is located in which district of Odisha?

(A) Khurda (B) Angul (C) Gajapati
Qs 9ged Bg 6341 69a AR BeEe?
(A) 6611 (B) AR (C) RdE
145. King Kharavela belonged to which royal dynasty?
(A) Nanda (B) Maurya (C) Chedi
QR IR 69Q ARSEQ 2GS AT
(A) 9Q (B) 6211<TY (C)60Q
146. Which river has its origin from Gonasika?
(A) Mahanadi (B) Baitarani - (C) Budhabalanga
606 Q01 'caIRIdR § Ad@ 6RINE?
(A) ARIQQ1 (B) 630Q4T (C) Q1RGP
147. Which of the following places is a Buddhist site?
(A) Khandagiri (B) Udaygiri (C) Lalitgiri

BoREe AIRAIR FRINQ 6Ra0 4@ I8 AR B6C'?
(A) SIEGG) (B) Q@QEQ) (C) ARTQ

WtsApp/Call- 8596976190

(D) Kerala

(D) 6@

(D) Gangadhar Meher

(D) GI&PIRIG) 6A6RQR)

(D) Kendrapara

(D)6@RICQ!

(D) None of these

(D) 62@% Q69

(D) Brahmani

(D) Qlgél

(D) None of these

(D) 6206 Q6&
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148. The waterfall ‘Duduma’ is associated with which river?
(A) Indravati (B) Nagabali (C) Rushikulya (D) Machhkund
290 *RgaIe 6aq Ae1ae a'ae?
(A) QQI1e1 (B) QIcll o1 ©) G}@@\Q‘ﬂ (D) Alead
149. For which book Gopinath Mahanty got Jnanpith Award?
(A) Matimatala (B) Paraja (C) Amrutara Santan (D) Danapani
saIdalel Q18 e ageig A Biedlo QI AIRBeR?
(A) AIFAgIR (B) Q@ (©)AUGOQ QIR (D) QIQIENE
150. Which tribes are not native to Odisha?
(A) Munda (B) Kuki (C) Santal (D) Kandha
ced 2ARIAIH 6F6IQ Q@87
(A) g4l (B) @& ©) Q2@ (D) @®
Part-I1
ENGLISH LANGUAGE

SECTION — A : Grammar : 20 Marks

Instructions: Each question under this section carries ONE mark. Please read the instructions carefully
and answer the questions by selecting the right one out of the multiple answers given below as A, B, C. D

Instructions for questions from No. 151 to 160 :
Fill in the blanks with appropriate Articles, Nouns, Verbs, Prepositions from the choices given below:

151. boy is ideal student in the class.

(A) A, the (B)A, a (C) The, an (D) An, the
1562.To is human, to divine.

(A) beg, give (B) commit, forget (C) perish, work (D) err, forgive
153. Odisha has witnessed the of a number of severe cyclones in the recent years.

(A) ocurrence (B) occurence (C) occurrence (D) ocurrance
154.1 the station after the train

(A) reached, had left (B) had reached, left
(C) was reaching, left (D) was reaching, was leaving

155. My father is staying in a hired at Bhubaneswar.
(A) acommodation (B) accommodation (C) accomodation (D) accomodasion
156. It is you who responsible for the loss.

(A) is (B) are (C) shall (D) may
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167 Jamill;,  _I?

(A) weren’t (B) aren’t (C)isn’t (D) wasn’t
158. Not only Rama but also his brothers equally guilty.

(A)is (B) are (C) was (D) shall
159. Either of the boys got a prize.

(A) has (B) have (C) was (D) were

160.Open your book page 10.

(A)at (B) in (C)on (D) with

Instructions for questions from No. 161 to 170 :
Do as directed and answer the questions from the choices given below:

161. Direction: Change the sentence into indirect speech
He said, “ I knew the man.”

(A) He said that he knew the man. (B) He said that he knows the man.
(C) He said that he had known the man. (D) He said that he was knowing the man.

162. Direction: Choose the correct part of speech of the underlined word
Still water runs deep.
(A) noun (B) pronoun (C) adjective (D) adverb

163. Direction: Change the sentence into passive form

Keep to the left.
(A) Left is kept (B) Let the left be kept
(C) Left is to be kept (D) You are directed to keep to the left

164. Which of the following sentences is grammatically correct?

(A) T do not know where did he go? (B) I do not know where has he gone?
(C) I do not know where he had gone? (D) I do not know where he had gone

165. Direction: Spot the error in a part of the sentence
I have spent many a sleepless nights when I was in Mumbai during Covid 19 period

(A) I have spent (B) many a sleepless nights
(C) When I was in Mumbai (D) during Covid 19 period

166. Direction: Find out the correct meaning of the underlined word
Babusan is a promising actor in Odia film industry.

(A) swearing (B) entertaining
(C) charming (D) showing signs of being successful in future
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167. Direction: Find out the phrasal verb of the underlined word

One should not despise the poor.

(A) Look up (B) Look down (C) Look at

(D) Look down upon
168. What is the feminine gender of bullock?
(A) ewe (B) vixen (C) heifer (D) filly
169. Direction: Find out the subject of the sentence
In the newspaper, an interestin g article appeared yesterday.
(A) in the newspaper (B) an interesting article
(C) appeared yesterday (D) None of the above
170. What is the antonym of ‘essential’?
(A) unessential (B) inessential (C) disessential (D) ilessential
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Instruction: Each question under this section carries ONE mark. Please read the passage carefully and
answer the questions by selecting the most appropriate one out of the multiple answers given below as 1
B C, D

Science and technology not only dominate the psyche of humanity but also the whole biosph.ere. Our
civilization is also greatly influenced by science and technology as they are related to human happiness.

The original cosmic evolution of the biosphere was one that promoted, supported, nourished, sustained
and enhanced life. Life went on adding to the evolution with newer species and ecosystems, even more
beautiful and vibrant than the ones before.

Our biosphere accommodated a pleasant weather cycle and climate system to support these newer
species, keeping everything in dynamic equilibrium.

Now the biosphere is overburdened and ailing. Some of our ecosystems have already collapsed, while
others are at death’s door. Ever increasing pollution coupled with over-exploitation of natural resources
and greenhouse gas emission is driving several species towards extinction. This is not a phenomenon that
has occurred by itself, and neither has it been caused by human beings alone. But it has been definitely
spurred by so-called advances in technology.

In this millennium, we no longer live in a biosphere = we are inhabitants of a technosphere. A
technosphere is an impaired biosphere that has no affinity with values of life or sustainability and
evaluation of life. Although technology has empowered civilization, it has also reduced it to being a mere
tool of science and technology. And when the whole civilization turns technocratic, science and
technology are bound to dominate, causing life to shrink. The intensifying climate crisis is but a symptom
of the biosphere’s illness and life’s gradual collapse.

We have reached a point where we are intolerant of anything remotely unscientific in our contemporary
world. Scientists look for alternatives, but even these solutions are sought in the domain that has caused
these problems. In short, we are caught in-a trap of our own making.

So, what would be meaningful for the welfare of humans? Naturally, something that would enhance life,
serve to integrate ecosystems and cleanse our environment. Enhancement of life includes betterment of
human ljfe and viee versa. If life shrinks, we cannot blossom.

Science and technology by themselves are neutral; it is the way we use them that has either a positive or
negative impact on our lives and environment. And when we use science in a manner that increases un-
sustainability and unhappiness in our lives, how can we rely blindly on science for our happiness?

171. What is the central theme of the passage?

(A) Science and technology are meant only for increasing pollution, over-exploitation of natural resources
and greenhouse gas emission leading to extinction of several species.

(B) Science and technology are no longer required as they adversely influence our civilization having no
affinity with values of life or sustainability and evaluation of life.

(C) Meaningful use of science and technology are essentially required for mankind in the contemporary
world as they immensely contribute to our civilization, human welfare and happiness.

(D) Use of science and technology should be banned as they increase un-sustainability and unhappiness in
our lives.

172. As per the passage, which of the following is correct?

(A) Life on the earth is lowered by the evolution of the biosphere.
(B) Life on the earth is enhanced by the evolution of the biosphere.
(C) Life on the earth is decreased by the evolution of the biosphere.
(D) Life on the earth is removed by the evolution of the biosphere.
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1Z3. What are the factors responsible for the collapse of our ecosystems?

(A) Ever increasing pollution (B) Over-exploitation of natural resources
(C) Greenhouse gas emission (D) All the above

174. What are the bad consequences of science and technology on our civilization, human life and
environment?

(A) Our biosphere is becoming overburdened and ailing resulting in gradual collapse of some of our
ecosystems.

(B) Intensification of climate crisis and extinction of several species.

(C) Technology has reduced our civilization to being a mere tool of science and technology although it has
empowered our civilization.

(D) All the above

175. What would be the meaningful use of science and technology to have positive impact on the society,
human life and environment?

(A) If we use science and technology for the welfare of the human beings and society which would
enhance life, integrate ecosystems and cleanse our environment.

(B) When we use our science and technology in.a manner that would increase un-sustainability and
unhappiness in our lives.

(C) If we rely blindly on the so-called advances of science and technology for our happiness.

(D) If we use science and technology indiscriminately unconcerned with its impact, either positive or
negative, on our lives and environment.

Part-111
ODIA LANGUAGE
SECTION-A : Grammar : 15 Marks

Fedaiant : 92 QAGNITR g6eye g9a Q09 0ea AlF ¥e IS 685 | ¢ Selgsq
QARSI GIFPR U9 ALRIER A ¥e° J6RINER gL YIEAIT aaq AUQ A0@ ead
Gda 2eg |
176. Q089 arlQ eaae! O aa?
W ge sl ® ggal ©gqgel gyl
779" 49 9Q0 "¢ 29 caI§ 90 aaq 918 6ad|
@ aq o aq
a) €l i) aeQY
b) & i) Q@Y
)4 iii) @AY
(A) a-i, b-ii, c-iii (B) a-iii, b-ii, c-i (C) a-iii, b-i, c-ii (D) b-i, c-iil, a-ii
178.'qe168'q 2ol @'&1?

4) 68Q 2000 @8 (B)§18Q QLIS @ @)
©) 889 2890 @ @9 D) 98 AQIAGI @ @8
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1. 9FG
2.21&
3. Qg

4. gollemI@

(A) 1-d, 2-¢, 3-b, 4-a
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el eq 908 @aQ fera ens |
o a9

a. @@

b. 6OQE

(-

(e EJGM‘

d. Qare

(B) 1-¢, 2-b, 3-d, 4-a (C) 1-b, 2-a, 3-d, 4-c
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(D) 1-¢, 2-a, 3-d, 4-b

180.6a1¢ QEIER ARG A9I: 9 QoQ 2l @'81?

(4 ¢le 98 @2l B2, 019, (©) 986 QEI6R Q88 (D)6aIR QO
181. g0 6108 5g¢ @

A) QALY ®) Qg ©@Qegl D) QALY
182.'gqQ'Q QA 6@ @817

(A) Q86 (B) Q8 (©) Q866 OEEER]

183 ag6q 6R6R 9P 6 ‘¢ B96R 6AR QP ad SaRIRG | cR@ QF 69d el RISl @69

AR Emsl |

@ el

1. 2en 9o @. glQ 285,

2. @loaq a0 gl. OQ|

3. elzIq QG . 98 Q4I6Qql

4. 2IGeq) YPeeal  @. ¢ @ el

wl-@, 2-¢, 3-¢, 4-q ®1-¢, 2-@, 3-@, 4-d

©l1-¢d, 2-@, 3-d¢, 4-q o 1-¢, 2-@, 3-@, 4-d
184.c0ad 999 §0q 906 Q67|

(A) El6yG ® QU ©agd D) @egIa
185. cadll 'aQ'q go9e Qe

(A) QAR (B) 46QIR ©) g4 (D) Q4!
186.qqe’ Qe8E 0@ 96 6ad FeaaY 0aq alie age 2@7

(A) Q1€ (B) Q919 (C) A6FS (D) 6P
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[N

%7990 QIe 9Iq 9aE6e duly Q9 QIF
(A) Q& (B) 9@ (C) 6216 (D) AR
188.'00, @5Q1q Qg - Q19 IREQEQ daldl @)

A) 158 (B) @RIl (©) @erlsl (D) BR1ag|

189 Qg 29g® 6Q6R 69 @6q Qe €6Q |

(A)RSR (B) 2SR ©BRER D) AASS!
190-QI6 2Req Qe ea - @ 99q a0e 2d QIg|

(4) Q2ll 698y (B) 6060 CaIERRER & caIS Q) €6@ A1’

© QNG 62IA A SRR (D) 2RI Q8¢ €llg

SECTION-B : Composition : (5 Marks)

Qedelont: 9@ @afaian geeie 99a 90 aaq g 9@ A Q88 | Jaiaeq
Quandel gg9de ag aeqlsa g9g Ie° ARG gea claid aaq Adig
d0e @aed Ada aag |

191. QleQ) 6@l J ¢ el

(W) AR B)LQHa (©) AR (D) LIRS
192. ageleq ceiped |

@) dad B) 6m (©) 998en (D) a98RIAI6R
19 gea 9aI 98 Gelnicie 28 Zem |

(A) Q@ (B) Q) ©) AIgle D) QG
194. 60 agl @s9 666 9Q), 69 PIc 68 |

(42199 ®) Qa9 ©6QIQ D) 80Iq
195. @@oml oseaq a9 cdal e @'al?

(A) 2B FIa2 (B) 26 Q& (€) &S 6942 (D) 2B Jausien

(=8
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SECTION-C : Comprehension : (5 Marks)

Sedalae! : 1E QOGRITR 9601e 949 90 9aa AN 19 AIF AF8 | 89 age 2AG6RISY
QQ 42RI6R A3 Ie° 6 96R F2IAIRYS g4 AIRTA Q0@ eeQ 7da @ag |

slduedcn @6d aaadl d@ql doda aRleR fe dea 81016 ceadeal Qe Ald
galeall @1eaadr @ael di 6@ QRS SePRl daiolq, saQl @49 @ do”IQ
PIQEIael QA8 64 - 969 ] AAIQAS AR QeI @@.;asml D60 galcm 62 AT
218 QeNQIN6a QTR 66R Qe @Ie QLI GIFER Qlacall 69 AIAIRY @R8I diRsm| de
q Q&1 6Qd AlRIe isiq Ad AQIe aiadiel gIee Qg 6ol |

@ gAg, 96Q ARIA1 dew QIE Q@em-"9g! Q@“ Qeq!" de @lar @éll Q@E]IQGII QIE
@IQ 9%&1 Ql@lélﬁl‘ QEY 98 Aol *FeR -"'RFOQ ﬂ@ Qe @S] Qoo QHQ GQI 9@
@CeRQ q&@@ﬂ QgQ gIF 9Ageq A Q@ 2GR 1"

9 G0 -"AIel! @48 Fad 2id Ag? @A 6AIQ AI'l  9AQ A6l 69IR Y6RUR @6QY|
210 g2 ogsaIgen QERE!, agasl, Aalaqsl, QAT QAR AR fe 6o alea @
6060 Q6IRIG FYAIG 1"

ARIERT geQ ARIAIe QR casnl 64 aa6m - QIR 2IFq A9 @;m RIFAIQ F6R 9 QR

@°661I8e 6221 €41, AGEY A6re deeie sl el QERGIEY §Qlq 89, 2d, 609, 490,
ceYId 2T a8 AQIQesa SIell e e Al 9Q ag aelge Aq aey &8 Q6a1 9
adigfica 9e1eq QAIZQIags 6RINdINI @9 IUD g ‘agdm 6Q10891q 2P
q;a;&i@ o ae@ | q@@t‘* aege e 6IR gesl @0Ql 996ql @AYl 9@ QUG FREQ
die aasn @lea dgad eal Fedd cIade, 98016q) 2R Q6T @6Re |

aellaley dea 6U@ QL8 caanden IRl Q@ Jdew € QG;@Q@I deoa AlReeaQ 2EI69)
Q8@ ﬂ@“ NG| N dealdel 2Qae @9l dia dIeleq 98ld 9ide ddIge
QI Q@ dleP, @@, el 2 QQI&TGQ\UQ 1@ 6QEm At ﬂ@ QQ Yo Ell@@ LR QGQ |
QAME! , Q@Q]ﬁﬂ 21 QPeg ARQICAloR FI@@IGQ EJ@Q@@I ALAQ @61@@63\ Q@@IQ aqaisl
El@tl@@ QRS | @QG; 6RQ QR 616‘ Q2B IRRIQER AAINBY G FaANN6VUS!
QIO ﬂg@l@ q%l ﬂ@@l QS K9 99 G@Q%ﬁﬂ@ o8l

196. @100 QIAQ @6Q da @'4 @'6 @QRRQ?

(A)Qell, URAR, AR, HRCIQ G 62Q

B) @18a!, 1P, gafml, AQTRQSNI B8 B9

(€) QARG!, ALIAIS, AeIcaoe feel, aleidel 6 e
D) LIRS §eral, SRR, €A, Qe 6 edasy

197. Q1616 F90I6Q cRaIca BQeRe?

(A) 2Q1, €€, QLIS (B) Q@ 6a1IA
© 89,8 D) QERe!, agas
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(A) QYaQ B) Qa1 ¢Q4l ©) A&l (D) A9

199.0¢16 @aq) 2ineq Be?

(4) 9 aelf QA6q 9199 QaIRAIFRd calneld

(B)I9QIOQ 9 616 €80QIQe §Q 2QY 88 9eg

O RIAAIQ 96M 9 QA 66T 62

(D) ASIY 96716 6@ €I 6 QERGIR 1Q) €80Q1Qe6q q9! B T 6RIR8QIq

200."9g1 fe° @@g" 9 @2q 2 ¢'q?

(A) I 2916 004 §a,

B)@9eQ de 2

(© R66Q 2R 94

D) 9Q @916Q gied age 2If 9rgwe aad e 2ea |
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